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Shilpa took a loan of Rs. 15,00,000 to purchase a car. The company charges compound interest at 20% per
annum. She promlsed to make the payment aft_erthﬁe_xg‘a_rs But for the last year of loan tenure, the company
increased the rate of interest by 25% from the previous one. Then the extra amount which she had to pay is what l | m

per cent of the amount of loan taken by her? -
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There are three members in a family — husband, wife and their son. Husband’s age is thrice his son's age and
wife is three years younger than his husband. What is the respective ratio of ages of son, husband and wife if

their average age is 41? SGV'- -x
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There are 3 points P, Q and R in a straight line, such that point Q is equidist i A man can
swim from point P to R do in 24 hours and from Q to P upstream in 16 hours. Find the ratio of speed of
—_—

man in still water to speed of stream?
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Instead of normal weighing scale a shopkeeper use He used 1.4 kg scale while buying and 840g

scale while selling, what will his overall profit percentage, if in the end he offers(10% discount?
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From ‘A’ kg of pure tea a shopkeeper removes A% of the mixture (Either pure tea or adulterated tea) and replaces
it with same quantity of adulteration. If he repeated this process once more and now the amount of pure tea

remaining in the MIXtUFE 15(90% of 40% of A) kg, then find the value of A. '
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days if working alone. Each

A work is started by a-man-and it is assumed that he will finish the work i
subsequent day a new man joined the work. In how many days-ihe fdur times the original worH Jwill be
it bl liel)
completed, if after the 8th day from the starting of the work no new man will be further added? I - I\ W .
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Ajeet purchased 100 books of quantitative aptitude for his book store. He sold 20% of total books at a profit of
10%, 37.5% of remaining at a profit of 15%, 80% of the remaining at a profit of 8% and remaining at a profit of
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20%. If he sold all the books at a profit of 16% he would have gained Rs.1505 more, then find the cost price of

mbook,
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In an office some pers; e officers and some are non-officer. The number @ The average

salary of officers is Ris.1040 &nd that of non-officers is Rs f the average salary of entire staff in office
(officers + Non - officers) is Rs.500 per month, then what is the average of total number of employees (officers nasw ‘eys = N

+ Non - officers) in the office?
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A, B, C, and D are four friends. In which B and C are brothers@weets are divided among them. A gets 200/3
% of B. B gets 40% of C and C gets 75% of D. Then what is the difference between the number of sweets received

by brothers and the number of sweets received by others? j)
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In a school number of students in 6th and 7th class is in the ratig 6 : 11. If 60% of total students in class 6 are
lms and 52% of total students in class 7 are boys, then fuf@ total girls in both the class together is

approximately what percentage of total studentsin both the classes?
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In a 1500 m race, Chaitali beats Vrunali by 100 m and in 1200 m race, Vrunali beats Krutika by 75 m. If
Chaitali and Krutika are compared, then for how uch m Chaitali will beat Krutika in 900 m race?
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Ajay walked 12 km to reach the station from his house. Th e boarded in a train and reached his

destination. The average speed of the ed he took a If

the average speed of train was 120 kmph, then wha & Tatio of walking speed of Ajay to the speed of
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